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LRSI N —20-3=07T, TNzt A=3,-1TT, £>T, —MRIZ 2(t) = Cre¥ +
Cze_t (C1,C2 Li{f%ﬁ@rﬂ?%{) ktﬁbij_ ?‘]JE;H ﬁ:il‘( ) Cl+02—0 ZE/(O):?)C 02—4
TID6, 2660 =1, Cy=-1DFoNET, Ko TRDBRHERMIL 2(t) = —t
T3, B

2. FEABEAUE N +1 =0T, SNEMBEN=4iTT, £oTC, M 2(t) = Cp cost+Cysint
(C1, Cy IMERDEE) L7 h £, PIHZEMEIE 2(0) = Ccos(0) + Cysin(0) = C; =1, 2/(0) =
C1(—sin(0)) + Cocos(0) = Cy =1 T, K& 2K5kMEIZ () = cost +sint TT, B

3. B ARERIE N —4AN+4 =0T, Izt N=2 (ER) b Fd, koT, —MEIZ
z(t) = C1e®t + Cote? (C1, O FEEOER) &40 £, WM X 2(0) = C; =0, 2/(0) =
2C1(eP0) 4+ Cy(e0) +2.0-eC0) =20, + Cy =1 TTD 5, KO DEIRBIE 2(t) = te? &7z
D3, M
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